
SAP ABAP table UKM_S_TOTALS_SOURCE_BW {Extract Liability Totals}

UKM_S_TOTALS_SOURCE_BW

CREDIT_SGMNT [CHAR (10)]

COMM_TYP [CHAR (3)]

CURRENCY [CUKY (5)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]
 UKM_S_TOTALS_SOURCE_BW-CURRENCY = TCURC-WAERS 0..N

0..N
UKMCOMM_TYPES

CLIENT [CLNT (3)]

COMM_TYP [CHAR (3)]

 UKM_S_TOTALS_SOURCE_BW-COMM_TYP = UKMCOMM_TYPES-COMM_TYP 
0..N0..N

UKMCRED_SGM0C

CLIENT [CLNT (3)]

CREDIT_SGMNT [CHAR (10)]

 UKM_S_TOTALS_SOURCE_BW-CREDIT_SGMNT = UKMCRED_SGM0C-CREDIT_SGMNT 

0..N

0..N


